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2. (25%) Rod AD is bent in the shape of an arc of a circle of 

radius b = 150 mm. The position of the rod is controlled by 

pin B which slides in a horizontal slot and also slides along 

the rod. Knowing that at the instant shown pin B moves to 

the right at a constant speed of75 mm/s, determine (a) the 

angular velocity of the rod, (b) the angular acceleration of 

the rod.l 

3. (25%) Force Pis applied to a plate that rests on a 

smooth surface. Find the largest force P for which the 

pipe will not slip on the plate (/c::::; mr2
). 
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4. (25%) The 2.5-kg slender rod AB is released from rest in 

the position shown and swings to a vertical position where it 

strikes the 1.5-kg slender rod CD. Knowing that the 

coefficient of restitution between the knob K attached to rod A ----....----"'"'""""' 

AB and rod CD is 0.8, determine (a) the angular velocity of 

rod AB just before the strike, (b) the angular velocity of rod 

CD immediately after the strike, and (c) the maximum angle 

Bm through which rod CD will rotate after the impact. 

(g = 9.81 m/s2
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